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INSTRUCTIONS TO CANDIDATES

1. Do not turn over this page until you are told to do so.

2. Foliow alt instructions carefully.

3. Answer all questions.

4. Shade your answers on the Optical Answer Sheet (OAS} provided.
5. This booklet consists of 27 printed pages and 1 blank page.






For each question from 1 to 28, four oplions are given. One of them is the corsct answey.
Make your choice {1, 2, 3 or 4). Shade your answer on the Optical Answer Sheel (OAS).
(56 marks)

L Study the classification table below carefully.

cosonuires

love grass

Which of the following statemeni(s) isfare correct?

The organisms in Group X and Group Y are non-flowering plants.

The arganisms in Group X and Group Y are reproduced by spores.

The organisms in Group X contain chiforophyll but not those in Group Y.
The organisms in Group Y are micro-organisms but not those In Group X.

OOowme

{1} Conly

(2} AandBonly
(3) CandDanly
{4) A,BandDonly

{Go orn to the next page)



‘The diagram below shows the human digestive system.

Bas&d on the diagram and the classification ﬁ:hart abaove, whxa:h ane af the following
shows the correct heading for group ¥?

(1)
{2)
(3}
“4)

D[gesﬁon is completed.
Digestive juices are producsd.
Absarplion of water takes place.

Absorption of digested food takes place.

{Go on to the next page)
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Marcus cut two rings of different thickness, part A and part B, from a stem and
removed them from a plant as shown below.

; e | Part A removed

|
d

v } E/,F??r‘c B removed

He recorded his observation of leaves X and Y after one week in the table below.

Z

X i turned brown and wilted.

Y It remained green and healthy.

Which one of the following optlions correctly shows the parts that were remaved?

(1) oad-~carrying and water-carrying Water-carrving tubes only

, tubes

2) Food-canying fubes only Food-carrying and water-camying
fubes

(3) Water-carrying tubes only Food-carrying and water-carrying
fubes

Food-carryi d water-camying
(4} Erymg;geswa ercanying Food-carrying tubes only

(Go on to the next page)
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4 Mary wanted to conduct an experiment to find out if the colour of petals has an effect
on the number of pallinators attracted to the flower. She has the following flowers as
shown in the table below.

A rad

anther within the flower

B vietite

| anther within the flower

c yellow

large pelals

D wihite

swest scent

E ‘. pink

no scent

small petals

Which of the flowers should Mary caompare to conduct her expetiment?

(1)
)
(3)
(4)

- Aand B anly

B and E only
B, D and F only
C, E and F only

(Go on to the next page)
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The diagrams below show the female and male reproductive systems.

iov which parts of the reproductive systems are the reproductive cells produced?
(1)  Cand Xeonly
(2} PandXanly
(3) PandYonly
(4) Qand Y anly

The diagram below shows tha cross-section of a flower.

Which of the following statements are correct?

Part D will develap into a fruit after fertilisation.

This flower is likely to be an insect-pollinated flower.

During pollination, pollen will be transferred from Part A to Part B.

Before pollination takes place, if Parts B and C are removed, the flower wilt
still be able to turn into a fruit,

oo® >

(1} AandC anly
{2} B andDonly
(3} A.BandDonly
(4} B, CandDonly

{Go on to the next page)



A tightly sealed plastic bag containing substance Y is placed inte a beaker
containing substance Z. After § minufes, same substance 7 was found inside the
plastic bag as shown below.

saésfamez' - ,' —

substance ¥

sesled
plastic
bag

Before After

Based on this observation, which part of a cell has a similar fumﬁaﬁ as the plastic
bag shown ahove? ’

1) calbwall

2)  cytoplasm
3)  chloroplast
4)  cell membrane

(Ga on to the next page)



The diagram below shows how blocd flows in some parts of the human bedy a
few hours affer 2 meall

Organ X

=

k3

Blood at & a

Organ'¥

w Blood af B

sraall

irdestiine

Which of the following below best describes the diagram above?

(1}

(2)
(3)

(]

Orgam X

Crgan ¥

Blood at & compared fo blosd at B

lungs

heart more digested food and more carbon dioxide

fungs

heart

less digested food but more carbon dioxide

heart

lungs

less digested food and less carbon dioxide

heart

lungs

more digested food but less carbon dioxide

(Go on to the next page)



Three children were camparing the mavement of substances in a plant transpart
system and the human circufatory system. -

( The human circulatory systembas the )
heart which purnps blood 2l around the |
body but the plant transpott system
does not have any organ o pump
subsiancesaround the plant.

’ The blood in the human circulatory

- system and the pasts of the plant

| {ransport system bolh carry afr, food and |
- water all around the humanbody and |
 the plani respectively.

 Queenis

£ Just as the blood flows fom the lungsto
- the hesri and then back fo the lungs

- again, water from the rools is

| transported to all pads of the plantand
. then back to the roots agsin.

Which of the three children made the correct statemenis?

(1) Peteroaly

(2) Pelerand Rick anly

(3) Queenie and Rick only
(4) Peter, Queenie and Rick

(Go on to the next page)
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Jalen measured the amount of light, axygen and the temperature in a field on a sunny
day. He plotied three graphs fo show the changes in the amount of light, oxygen and
temperature from 7am to 12 noon.

Ammount of light (units) Temperature (°C)
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Based on the graphs above, what could have caused the amount of oxygen to i mcrease
from 7am to 12 noon?

(1) Alltliving things produce oxygen during daytime.

(2} Plants do not take in oxygen when the amount of light increases.

{3} Animals give off more oxygen when the surrounding temperature increases.

{(4) The rate of photasynthesis increases due to an increase in the amount of tight.

{(Go on to the next page)



1t

it A group of students recorded the number of organisms found in tha{r school's pond.
They drew the bar chart shown below based on the data they had collecied.

Nurnber of organisms
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YWhich of the following statements about the organisms in the pond are true?

A:  There are 26 populstions of plants.
B: There are at least 6 populations of plants and animals.

C: The number of floating and submerged planis are equal.

58 Insects are greater in number than any other group of animals.

{ty Aand Conly

(2} BandDanly

(3} B.CandD

anly

{4y A,B CandD

(Go on to the next page}
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12 The chart below shows how a human activity can have negativé effects on the
environment.

|

!

Soll exposed to rain

' Increase in the amount of carbon dioxide

B

k4

4
- Mare heat frors
- the Surt is trapped

- Sail na langer suitable | :

for plants

Melting of ice around the Poles

x4

] i
¢
i

Which a? the following best represenis A, B and C?

(1) |
(@) |
(3}
(4) |

&

B : C

Deforestation

Soil erosion Draught

Deforestation

Soit erosion | Rise in sea levet

Burning fossil
fuels.

Floading | Haze

Burning fossi
fuels

Haze Flooding

(Go on to the next page)
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13 Meng Zhe obsarved two arganisms, X and Y. Organism X has an air bubble atfached
to its body and arganism Y has a breathing tube.

-gir bubbls

breathing ube

Organism X @%g,sm ¥

Which one of the following most likely shows wihere Meng Zhe found the twe
arganisms?

(1) | On plants above the pond - just under the surface of the pand

(2) Just under the surface of the pond | At the botfom: of the pond

(3} | At the bottam of the pong - Just under the surface of the pand

(4) . Atthe battom of the pond ; On plants above the pand.

14 Which of the following activities do pot harm the environment?

A Writing an both sides of the paper before recyeling it

B: Turning off the lights in a room when no one is inside.

C: Driving to work by car instead of taking public transport.

|95 Bringing your own recyclable bag when you go grocery shopping.

(1) AandC only
(2) BandDanly
(3) A,BandConly
(4) A,BandDonly

(Go on to the next page)
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18 Azriyan set up an experiment as shown balow to compare the flexdbifity of four

made of different materials, P, Q. R and 5, respectivaly.

400-gram
weight

s

&

o ey .§:..., s < o,

viooden
block 7

strips

On each strip, he placed a 400 g weight. He then measured the distance, d, betwaen

= the highest and lowest points of the strip.

The results of his investigafion are shows in the table halow.

8

Based on the results of Azriyan’s investigation, which materials are the most suitable

to make parts X and Y of the object shown belov respectively?

10
@
@
)

(Go on to the next page)



16 Dinesh hung four metal bars, J, K, L and M, from horizontal rods as shown helow.,

HEdZZ s 22Tz BFFZIeiiZzaad T VLI AESTS

X [ ¥ [k ¥ K I ¥ KT+
Melafbard Matal bar K Melal bar | Matal bar i

bar mégmt

He then brought the north pole Qf a bar magnet near end X and later near end Y of
each metal bar. C o

He recorded his observations in the table below.

' atiracted ] atiracted

K aftracted repelled
L f no reaction no reaction
Mt repelled | attracied.

He wrote the following statements after conducting the experiment.

Az Metal bar K is made of a magnetic maferial.

B: Metal bar L can make a compass needle move.

G End X of metal bar K wilf repel end X of metal bar M.
D: Both ends of metal bar M will attract metal bar J.

Which of the above statements are hot correct?
(1) AandDorly
(2} BandConly

(3) B, Cand D only
(4) A, BandDonly

(Go on to the next page)
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The picture below shows the buming of some wood.

Which one of the Tollowing correctly shows the convearsion of energy during the
burning of wood?

(1}  Potential energy - light energy
(2)  Potential energy <> heaf and light energy
(3) Potential energy - kinetic ensrgy-> heat energy

(4 Heatenergy> light energy > potential energy

(Go on to the next page)



18 The table below indicates the state of substances P, Q and R at different

temperatures.

State of substance af the different temperatures
Substance

;¢ | 60 | 100°C |

P liquid | liquid | g9as

Q liquid ', : . gas i gas

R soid | - solie | solid

Based on the information above, which one of the following statements is correct?

Substance P has the highest boiling point.

Substance R has the highest meliing point.

(3} Substance P has the same meliing peint as substance Q.
(4} Substance Q-has a higher melting point than suhstance R,

(Go on to the next page)
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A metal box containing 400 cm® of air was placed on an electronic weighing scale as
~shown in the diagram below.

opening
A - metal box
N e

400 cm® of air

- ) aleclronic
640 g J welighing scale

150 cm® more air was pumped inte the metal box through the opening.

Which one of the following correctly shows the volume ¢f air in the metal box and the
reading on the electronic weighing scale?

(2) 400 More than 640
{3) 550 840
{4} 550 More than 640

{Go on to the next page)
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19

Max carried out an experiment using a torch, a tennis ball and a screen as shown
below.

soreen

tennis bail

He wrote down what he did below:

Steps:

i-

Switch on the torch.

L

Measure the height of the fennis ball’'s shadow formed on the screen.

| bove the tennisbhall 3 ém closerio the torch.

' Measure the height of the tennis ball’s shadow again.

- Repeat steps (i) and (IV) two more times, each time moving the tennis
- ball 3 om closer to the torch.

Which one of the following is the correct hypbthesis for his experiment?

1)
(2)
(3)

4

The size of the torch will affect the size of the shadow

The colour of the tennis ball will affect the sharpness of the shadow.

The distance between the torch and the tennis ball will affect the shape of the
shadow.

The distance between the torch and the tennis ball will affect the height of the
shadow.

(Go on to the next page)
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Study the diagram below.

P Q R S

-

Sophie toy car rohot Steve Rosie
Four children and two of their toys are sééiarated by screens, P, Q, R, S and T. The

screens are made of different materials.

e Sophie is unable io see Kelly.
e Beth Rosie and Steve are unable 1o see the robot.
= Kelly can see both the oy car and the robot clearly.

Based on the information given above, which one of the ?oi%owmg could be the
materials used to make the screens? .

{—3 } Clear plastic WMT C‘;:ar plastic R!ﬁh?}ef C%ear glass
{2} . Wood Rubber Rubber Clear plastiic Clear glass
. (3} Ciear plastic Clear glass Wood Rubber Clear glass
(4} Rubber Clear plastic Clear glass Weod Clear plastic

(Go on to the next page)
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22 Jermry set up an experiment as shown below.

waler at
4 ﬁ}ﬁ%\; :

Reads P, Q, R and S are equal in size and made of different materials. He placed the
same amourt of wax on the tip of each rod and placed the rods in a container of boiling
water. Jerry measured and recorded the fime taken for all the wax on eachrod, P, Q,
R and S to melt. He plotted his results in a bar graph as shown below.

Time taken for al '
the way to mell
{min)

Which one of the rods is made of a material that is rost suitable for making a container
to store ice cubes so that the ice cubes will take the longest time to melt?

(1) RodP
{2y RodQ
£3) Rod R
(4) Rodd

{Go on to the next page)
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23 Jane poured equal volumes of water from two beakers of water, P and Q, into anempty
container.

bheaker P ' beaker @

comtainer

The final temperature of water in the confainer was 45 °C.

Which of the following best represents the temperature of the water in each of the
bezkers just before pouring infa the coniainer?

(1) ) (2)
Temperature | Temperature |
°C) S C)

g I Bt 45 e opemmpe e

3
£

(3) | @

Temperature Temperature |
(°C}) - ©C) !

48 e e e AT “_‘__ N SO U .

¥

v

(Go on to the next page)
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24 The diagram below represents the watler cycle. X and Y are processes that ocour
in the water cycle.

clouds uix;:)ix ; ;;:':
§.

N :ﬁ”ﬁﬁ?f‘g

Which of the following statements about the water cycle is correct?

(V) Y involves a gain of heat.

(2} Xiakes place when water condenses.

(3}  Xltakes place when water evaporates.

(4) Y takes place when water vapour evaporates.

(Go on to the next page)
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25 Grace set up an electical cifcuit as shown below. Al electrical parts are in good
waorking conditions. ‘

Which bulbs will remain lif when bulb X fuses?

{(t) Wand ‘5 anly
(2) Wand Zanly
£3) Y and Z only
(4) W,Y and Z only

(Go on to the next page)
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28 A stationery holder with a magnet in. it was atiracted to a whiteboard made of magnetic
material. Some markers were then added to the holder and the holder started to slide
down while siill being atiracted to the whiteboard as shown in the diagram below.

Which one of the following statements explains this observation?

(1)

£2) .

(3)

(4)

s

%

a4

holder - magnet

marker

whiteboard ———— |

i

hefare

The magnetic force of the magnet is less than the weight of the tiolder and
markers. ‘ '

The magnetic force of the magnet is greater than the weight of the haolder and
markers. o :

The friction belween the magnet and the whiteboard is less than the weight of the
holder and markers.

The friction between the magnet and the whiteboard and the magnetic farce of the
magnet is less than the weight of the halder and markers.

(Go on to the next page)
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Z7 A spring was aftached {o a wall and block Y was altached to the spring and left fo rest.
A magnet was then brought near block Y as shown in the diagram bsfow.

 initial

¢ lengthof

| sering o |
Before the experiment After the experiment

blockY

Which of the f@%f’o%ifﬂg forees are acling on block Y at the end of the experiment?

A
B:
C;

(1)
(2)
(3)
4)

Gravitational force
Magnstic force
Elastic spring force

Aand Canly
A and B only
B and G anly
A,Band C

(Go on to the next page)
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A tennis player hit a tennis ball and it followed a path of movement as shown by the
dotted line shown in the diagram befow.

tennis player ™

Which of the following statements below are corsct?

- The tennis ball stopped moving at point G

< The tennis balf's speed increased from point F o point G. ,

The lennis ball has the greatest gravitatfonal polential energy at point F.
Gravitational force acting on the tennis ball is higher at peint F than point E.

comr

(1}  Aand C only

(2) BandConly
(3} B, CandDonly’
4y A B CandD

End of Booklet &
(Go on to Booklet B)
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For each question from 29 to 40, write your answers in the spaces provided. The marks
allocated to sach question are indicated in the brackets. {44 marks)

28 The food chain below shows the food relationship among three organisms, X, Y and Z.

Qrganismr X Organism Y | Qrganism Z

Organism Y can be found in water that is slightly further away from the seashore. It has
onty a few types of predators as it is poisonous.

The diagram below shows how organisms Y and Q depend on each ather. Qrganism ¢
attaches pieces of Organism Y onto itself.

Organism Y
Organism Q

fa}  Stale whatls an organism. . 11

(b) Based or the imormation above, StEe now Organism: Y and Organism Q benefit
from each other. (2]

Benefit for Qrganism Y:

Benefit for Organism Q:

} (Go on to me . page}
SCORE |
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30 Kenneth conducted an experiment to find out the effect of physical activity or his heart
rate. He measured his heart rate Immediately after doing different number of sit-ups.
tis results are shown in the table befow.

Numbar of Heart rate (beats per min}

Triat | Situps done | 4t raadding | 200 reading | 3 reading | Average

t AT I T, 7w | e | @

2 RES 110 - 115 126 | 115

3 4a - .. | 130 , 140 138 135

{a}  Kenneth rested for 20 minutes before starting every frial. Explain why this allows
him to carry out a fair experiment. [

- (B State and expiiai}ﬂ: what happens to his heart rate when he does mere sit-ups. [2]




After exercising, Kennath was sweating. He went into an atr-condifioned room fo
rest. The temperature of the room was 19 °C. While resting, he observed white
mist forming above his body.

witte mist sweat

.

s
Pz}

Explain how the white mist is formed.

(Go an to the next page}

SCORE
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31 Julian wanted to find out how the cloudiness of river water affecis the rate of
photosynthesis in plants. He placed similar water plants and fish into three identical fanks
P, Q and R which contained the same amount of water from different rivers P, Q and R
respectively. The experiment was conducted in a dark room and a light source was
placed near the tanks as shown belawe.

light source

river water water plant

fish

Tank R

{a) Julian added a fish to each tank. Explain his purpose of adding the fish. 1]

{b}  Julian’s teacher commented that his experiment is not a fair test. Explair why (1]




&
Julian did some changas to his set-up to make sure it was afair test. He measured
the amount of oxygen in the water of each tank and recorded the results in the
iable below.

Amount of oxygen {units)
Tank P 5 Tank & ': Tank R

Thne

0 hour at start | 5 : 5 5

1 hour later | 19 f 13 21

4 hours tater | 27 ; 20 36

Based on the results, Jullan concluded that river G was the least cloudy. Do you
agree with his conclusion? Explain your answer. 1}

(Go on to the next page)
. SCORE

3
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Sam conduscted an experiment to study the foad relationships between animals Q, R and
3. He placed some plant P and some animals G and R info a box and counted the
number of animals after each week. After three weeks, he added animal S into the box,
The results are shown in the graph helow.

papulation |
size :

mreiE i e
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SR TR IEE U mE LY e ) 5
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g 0y
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‘ ety e T
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-
-
-
-
.

i

i

; C weak
3 ’ 3

(8}  Complets the food chain below to show the food refationships betwaen organisms
P, Qand R ‘ [t]

3 i
L 1 . r

L..._._.m..m s

{b}  Complete the table below by writing P, @, R and S in the table below. Each
letter can be written more than once. 2]

Producser Consumer , Prey Praedator

{c} If no other animals are added into the hgx, explain what would happen to the
- population of Q after week 7. Tif

{Ga an to the next page}
| score

d




2 The disgream below shows the fruils of Plant A The fleshy frults containad small hand

fruit

8} Wy do planis repraduss? o

B A populstion of planteater, X, was infroduced info the garden in weelk 4. It
afiected e area covered by plant & as shown in the graoh befow. Planf-eater X
doas not pollinate the fowers of plant A,

Lram coveeadiiny
plani A& (mA)

s

popuivina of ot ewue X

.

T Tl (reaka)
g &
A
of plan€ghanges rom wask t owesk & [

£n wlopenconansy

¢ 1 z 3

@ Beted on the information given, explain how the pressnce of the

. (Go an i the mwext page)
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34 Bird Clays s egg in anathey Bivd Ws nest. Bird C's egg looks like Bird V¢'s ege.

- Bitd C's egg

fa]  Explain why it is beneficiaf for Bird: C that its: egg loaks ke the egg of Bird V. [1}

(b}  Bimn s egg nardhes fist. The young will use it body to push the ofber eggs
out of the nest when the adult bird is out locking for foad

State the type of adaptation shove and explain how it benefits yaung of Bird C.

(Go anto the next page}

3
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35 Carol placed three solids of the same size but made of different materials A, B and C
into a container of water as shown.

sotid .
water

{a) From the diagram, state the physical property of balis B and € (13

(b}  Carol designed a device as shown to measure the amount of time that passed in
hours. She filled container Z with water. When she remnoved the stopper fromt the
holes, water flowed from container Z to container Y and from cantainer ¥ fo

cantainer X,

waley

maovahle ond [
stick with :
Hme marker

,./w holas

A

Caontainer X Coniginer Y Container Z

(i) Which material, A, B or G, should Carol use to make the stick? Explain
how the material helps the device to measure the amount of time passed.

2

{if}  Carol observed that the time indicated on the device was too fast. State
ane way how she can imprave her set-up. [t

(Gaanta ﬁ’é}g next page}
SCORE ‘
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1

Four _n,aii!'zs, B, Q, R and S, were tested to find cut which makes the strongest magnet.

nait

N s|

bar magnet

4
ety

paper clip

Each of the nails was placed against a bar magnet and the nurnber of paper clips which
the nail could attract was recorded as shown in the fable below. .

| nait
P @ R | S

Mumber of ;%apes"d‘ips ' S S :
attractedtothenail | 2 | 2 4 195

(a)  Other than the type of paper clips and length of the nails used, state one other -
variable that needs to be kept constant in the set-up. ' [

(b}  Based on the resuls of the investigation, which nail is the strongest magnet?
Explain your answer. &

(So an to the next page}
SCORE
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37 Hakim bought a new toy. He could play with it as shown in the diagram below.

toy

_ v .. Position B
transparent—- ‘ ;
f ' cross section

container D S, - SU—
5 of fie toy
, | } Posttion C ¥

Object P is inside the foy. The toy is able to float at different positions A, B and C, by
controlling the circuit that is connected to Q.

Hakim can close switches, S1, S2, 83, S4, S5 and S6, to control the circuit. This will
change the position which the toy floats.

81

83

e |,

{2) In order for the tay to float at Pasition B, switches S1, $4, S5 and S6 have to be
closed. Explain how the tay works to float at Position B. 2]




13

{b}  Which switch(es) does Hakim naed to close so that Object P can float at Positions
A and €7 Make your choice by placing a tick in the appropriate boxes below. [2]

Pasition Switches fo be turned en

S sz | s3 s4 | 85 | s6

{c}  Using arrows, draw and label the forces acting on the toy when i is floating in the
position as shown. ‘ [}

{Co an to the next page}
| SCORE
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38 Jack carried out an experiment as shown below. A temperature sensor connected to a
datalogger was placed in the test tube In set-up A and ihe test tube In the middle of set-
up B as shown below,

Each test tube contained the same volume of cold water at 16 °C.

datslogger | o f’/’ datalogger ‘
_ temperature sensor placed
- in the middle test tube

cold water
at 10°C

fast ubs

Set-up A Setup B

The graph below shows the changes of the temperatures of the water in the two. test
tubas.

Temperature of
the watsr (°C)

W’/ Setup B

*  Time (minuies)

{a) Based on the results, what can Jack conclude about the heat transfer in the test
tube in Set-up B as compared fo the test tube in Set-up A? Explain your
answer. t2]
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by The diagrcsm below shows anfmals M huddling togethef i the aold, &eepmg their
young in the middle.

Based on the results of Jack’s ammeﬁﬁ ex;aiam wﬁy it is an advantage for the:
animals to huddie together in the z:sid , {2}

(Go on to the next page)
SCORE |
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39 The Gravily Light is a project done by some students o provide light to places without
electricity. It works by hanging weights which will pull the chain down. The chain will
nower a generator which will produce eleciricity that in tuen will switch on the bulb.

bl —

generaior iz powerad
A By the: big whasl
chain

bigrwhesl = spum
‘ by the chadn
rape

veainht that pulls
" digwn the: ehatn

fa}  Fill in the hoxes below to show the energy canvarsion.in the Gravity Light.  [1]

anargy of the ensigy of the energy of the energy of the

tanging waighis - faliing weiphts: ganerator il

(b}  Without changing the wheel of the Gmwiy Light, how cam the persomn using it
make the bulb brighter? Bxplain your answer. 2}

(Goante he next page}
SCORE | "




40 James camried out an experiment by using various set-ups. He uses three types of
springs P, Q and R. He compressed the spring fo a length of d em and placed a marble
of mass m in front of it. When he released the spring, the marble movad up the slape.
James measured the highest height h cm reached by the marble.

comprassed
spring

The table below shows the resulls eb-taiﬁw by vamn@a the type of spring, distance d
and mass m.

- Setup
number

. Type of spring

- Distanes diem) |

Mass mig)

Helght hicm)

1

P

12

18

Q

14

23

R

4

18

e

1@

18

Q

12

21

(R RS RIS FOUR BN

R

NI en ||

12

19

(=} Using the table ahove, state and explain which spring is the stiffest.

2

{b) State-the i‘e&aﬁénsm‘g) between the mass of the marble ard hewnt b

R}

{c} E)fg;a{ar‘.n your answer for (b} in terms of forced.

[l

Bnd of nalier,

SCCRE

P
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29 a) An organism is a living thing or somethingjwhich wxas living thing.
b) | Y gets protection from predators.
c) Q will be protected from its predators asﬁh@bee poisoned by Y.
a)

When he rests, his heartrate will slow d t&gﬁrma] rate so he can get
more accurate results. /)

His heart rate will increase. During e e\r SeNgiore energy is needed. Heart
needs to pump blood rich in oxygef and digested food faster.

N Water from the sweat gains 1 fr hss body and evaporates into water

C\\(a . The water va \\/ ntact with colder air, loses heat
afd tondensesinio t um,ggvé\te@p ets.

Q31 a) Thelfish ’?p? Eﬁ @c&ource of carbon dioxide for the plant to
photosyrithes.

b) | Tank Qs directly under the light and gets more light than P and R.

c) No. Tank Q was the cloudiest. As the amount of oxygen released by the
plantin Qs the lowest, the least amount of light must have reached the
plant which resulted in the lowest rate of photosynthesis.

Q32 |la) |P>Q->R
b) Producer Consumer Prey Predator
p ' Q,R,S Q,S R, Q
c) Population of Q will decrease, as there is no more S for Q to feed only.
Q33 a) Plants reproduce to continue their own kind.
b) (i) The population of Plant A remains the same from week 1 to week 4, but

increases from week 4 to week 6.

(ii) Plant-eater X feeds on the fruits of plant A. When X moves from place,
the seeds are passed out in the droppings and germinate into new plants.

¥




Q34 a) Bird C’s egg will be cared for by Bird W until it hatches.

b) Behavioral adaptation. The young will get all the food from the adult with

no competition.
Q35 || a) Sink in water.

b) (i)Material A, as it is able to float in water. As water flows into the
container X, the movable stick moves upward and the arrow points to the
time.

‘ (i) She could make asmaller hole in container Y and Z.
036 ||a) |Theniagnet ) L
b)), \‘S‘@ 5 cduld attracﬁﬁé\mﬁs}{p@r clips out of the 4.
Q37

Wses S1,S S6 the circdit is closed and object Q get turned
into an electromagne‘c and canyepsl P. Ad the light poles are facing each

//b) Posmon
s1 s2 sé\“ 54 S5 S6
A v v v\ N v v
B v \ () v v
C v v v N J J
L "
c) } A

rion

Test tubeﬁ:@?%%@ héat slower than the test tube in set-up A. Test

tube set-up B has less exposed surface area, thus will gain heat slower
from the surroundings.

When animals huddle together, their bodies area will be less exposed to
the surroundings, They will lose heat slower to the surroundings, keeping
them warm.

Gravitational Potential = kinetic = electrical energy - light

The person can add more weights to the set-up as when the heavier the
weight is the more gravitational potential is converted to more kinetic
energy which can be turned into more light energy.

Q40

Spring Q is the stiffest. From Set-up 1, 5 and 6 height reached by the
marble in set-up 5 is the highest. Spring Q has exerted the greatest
amount of elastic spring force on the marble, thus pushing it he furthest.

The larger the mass of the marble the shorter the height.

For a larger mass, the friction between marble and ramp is greater which

slows down the marble more.

Z
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